X+4

2x+3=2

X+4

2x+374=0

OJ13.
2x+3#0 (1)
X+4
X+4

2*2x+3%0

2(2x+3) x+4 -
oX+3 T 2x+3>

2(2x+3)+(x+4)<
2X+3 -

(4x+6)+(x+4)<
2x+3 —

4x+6+x+4< 0
2x+3  —

5x+10< 0
2X+3 —

5(x+2)
2x+3 =

Permaem BcrioMoraTeNnbHbIE YpaBHEHHS.
(1) 5(x+2)=0
(2) 2x+3=0
VYpaBuenue 1 .
5(x+2)=0
Xx+2=0

X=-2



VYpaBuenue 2 .

2x+3=0
2X=-3
x=(-3):2
x=-1,5

Pacuer 3HaKOB.
Cnygaii 1 @ x<-2.

[TycTth X=-3

5((-3)+2) _5(-1)

2(_3)+3 ) >0 He YAOBJICTBOPACT HCPABCHCTBY.

Cnyugaii 2 : -2<x<-1,5.
ITycth X=-1,6

5((-16)+2) 5:04_,
2(-1,6)+3 ~ -0,2 YJIOBJIETBOPSIET HEPABEHCTBY.

Cnyugaii 3 : -1,5<X.
[Tycts X=0

5(042)_52_
7.0+3 = 3 >0 He YAOBJICTBOPACT HCPABCHCTBY.

Yucino -2 ynoBIETBOPSIET HEPABEHCTRY.

Uucno -1,5 He ya0BIETBOPSIET HEPABCHCTBRY.

OTBET: -2<x<-1,5.



